Algebra 8 TWMM Review
Write the equation for the lines shown in the graphs below.
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Algebra 8 TWMM Review

Determine whether the relationship between x and y is linear or not. Ifitis
linear, write the equation. If it is not linear, explain how you know.
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passes through the points
(2, 7) and (6, 15)
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Algebra

8 TWMM Review

Write the equation of the line given the following conditions:

T

with slope -2 that

passes through the point (3, -9)
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with slope % that

passes through the point (-2, 0)




passes through the points with slope % that

(4, 1) and (-2, 4)
passes through the point (6, 2)
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Algebra 8 TWMM Review

Write the equation of the line given the following conditions:

T
passes through the points with slope -2 that
(2, 7) and (6, 15) passes through the point (3, -9)
\")
passes through the points with slope % that
(2, -9) and (-2, 3)
passes through the point (-2, 0)
X
passes through the points with slope % that
(4, 1) and (-2, 4)
passes through the point (6, 2)
y4
passes through the points with slope -4 that
(2, 1) and (6, 9) passes through the point (-7, 5)
b
with slope = é that passes through the points
passes through the point (-10, 7) (2, -11) and (-5, 10)
d

passes through the points

(8, 2) and (-2, 7)

passes through the points

(-2, 2) and (3, -2)




